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Log Out Mohamed Hibat Allah...

Tinker With a Neural Network Right Here in Your Browser.

~HQ

Epoch
o ° 000,000

FEATURES

Which properties do
you want to feed in?

Ji |
d=

DATA

Which dataset do
you want to use?

Ratio of training to
test data: 50%

—

Moise: 30

—_—

Batch size: 1

REGENERATE

Learning rate Activation

0.03 Tanh None

2 HIDDEN LAYERS

+ -

4 neurons

Regularization

+ -

2 neurons

Firefox

Don't Worry, You Can't Break It. We Promise.

Regularization rate

0

Problem type

Classification

OUTPUT

Test loss 0.523
Training loss 0.524

Colors shows
data, neuronand I !
1
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T LIS AL S I

A TSI D
\ ~

X2 \ T ———

Ratio of training to \
test data: 50% \

4
— o X12 \\ J
A

Noise: 30 y s
2 ==
O

Batch size: 1 X1X2 < This is the output

. from one neuron.

Hover to see it
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F‘ ae Gradient Descent Visualization
Global Minimum
Step-by-Step
Gradient Arrows
Adjusted Gradient Arrows
Momentum Arrows
Sum of Gradient Squared
Path
(/] Graiient Descent
Learning Rate: 1e -2 s
Learning Rate: 1e -2 by
Decay rate: 0.800 B
Adagrad
Learning Rate: 1e -3
Learning Rate: e -2 5
V Decay rate: 0.990 2
Learning Rate: 1e -2 =
Betal: 0.900 :
Beta2: 0.999 2

Restart Playback speed: !J,Zx Q Q

B0 =08u0 @80
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F‘ N ] Gradient Descent Visualization
X
Saddle Point
Step-by-Step
Gradient Arrows
Adjusted Gradient Arrows
Momentum Arrows
Sum of Gradient Squared
Path
¥ Gradient Descent
Learning Rate: 1e -2 <
Learning Rate: le -2 o
Decay rate: 0.800 B
Adagrad
Learning Rate: 1e -3
Learning Rate: 1e -2 &
Decay rate: 0.980 2
Learning Rate: 1e -2 &
Betal: 0.900 :
Beta2: 0.999 2

Restart Playback speed:  0.2x[@ Q Q
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o Epoch Learning rate Aclivation Regularization Regularizalion rate Problem type
|
OOO:OOO 0.03 - Tanh - None - 0 - Classification -
DATA FEATURES + — 2 HIDDEN LAYERS OUTPUT
Which dataset do Which properties do Test loss 0.495
you want to use? you want to feed in? i e Training loss 0.481
4 neurons 2 neurons
X1 D g D : ¢
= .
» 7 o
*. 7 oy & : G .":
.j-l . .). L
<3 = T [} . .
Ratio of training to i . e .
L] -
test data: 20% I < A N
X1z { == . % - %" % =0
-® ! E The outputs are i L3 s
fj mixed with varying e Tav @ . %
o Al weights, shown by TR R TE ¢ C
Noise: 35 oo e the thickness of 2 - 0
/ the lines. [ i =
] . L O
. ; { * s
Batch size: 10 X1X2 N This is the output
—e from one neuron. by i
i Hover fo see it 0
! r»’ larger.
REGENERATE e [D} /

MO =00ul 80~ M
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weight values.

[ showtestdata [] Discretize output
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O Epoch Learning rate Activation Regularization Regularization rate Problem type
>
Run/Pause OOO: OOO 0.03 - Tanh - None - 0 ~ Classification -
DATA FEATURES + — 2 HIDDEN LAYERS OUTPUT
Which dataset do Which properties do Test loss 0.495
you want to use? you want to feed in? Training loss 0.481
ar = S
4 neurons 2 neurons

.

X2

il |
1
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Ratio of training to D
test data: 20%

-9 X2 The outputs are
ying
Noise: 35
— @ the lines.
Batch size: 10 iz is the output
_. from one neuron |
Hover to see it 0
) larger.
REGENERATE sin(X1)

Colors shows
data, neuron and ! !
weight values. '

sin(Xz)

4 Showtestdata | | Discretize oulput
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Learning rate Activation Regularization Regularization rate Problem type
0.03 X Tanh 4 None v 0 4 Classification v
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1o Test loss 0.135,
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The outputs are
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the lines.
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